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SOME SUMMATIONS OF ¢-SERIES BY TELESCOPING

M.V. SUBBARAO AND A. VERMA

Summation formulae for g-series with independent bases
are obtained and used to derive transformation and expansion
of g-series involving independent bases.

1. Introduction.

The sum of the first (n + 1)-terms of the non-terminating very-well-poised

s#s(g)[1]

n

(1 1) Z (1 - aq2k) (a’ b C, I:lc;q)k qk _ (a’q’ bQ7CQa ZC;Q)n
k=0 (1 - a) ((Ia b ¢ ,bcqa q)k ( D’ ¢ abcq,Q7Q)n

follows from Jacksons g-analgue of Whipple’s summation formula for a ter-
minating very-well-poised balanced g¢7[q] (in [4, 2.6.2] setting € = ag™ ).
A bibasic analogue of (1.1) was obtained by Gasper [3].
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and he used it for obtaining quadratic and cubic summation and trans-
formations formulae for g-hypergeometric series. A little later Gasper and

Rahman (5] obtained a bilateral extension of Gasper’s bibasic summation
formula (1.2):

If m,n are non-negative integers, then

n=0,1,2,...
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Jain and Verma [6] used transformations of g-hypergeometric series to
obtain a summation formula involving three independent bases:

(1.4)
z": (8;p)k(c; Dk (s P)k (BF P)k[(l ﬁ—cﬂp"P’“)(l — LPkg=k)(1 — Epkqh))q*

Mt (da; q)k (2525 p)i (22 B BE) (37 P)s
_ (1 - 31 -c)(1—y)(1- (Edc‘ap)m+l aq )m+1(cyup)m+l(gva)m+l
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q q

(B2; ) (dg; )n(2F; P)n (& 255 BR),,

(8P; P)n(cq; O)n(yP; P)n (S X 2B, }

which for P = q reduces to the Gasper-Rahman’s summation formula (1.3).
The proof of (1.4) could be given by considering
(8p; Pk (cq; )k (y P; P (43 B2 2D,

P

q

b= (% p)k(da; )k (4 P; Pk (5 BF; ED),

and observing that

(1.5) Ay = (Bp; P)k-1(cq; )k—1(yP; P)k—1 (ﬁdzc pf’pf)k 1
(1= & pePR) (1 - § PR R)(1 - dp q"k)]

(22: p) (dg; )k (5 BE; BE) (XF; P)y

3

and summing for k from —m to n (m,n are non-negative integers) and using
the usual convention:

n AnAmyr- - Ap m<n
(1.6) IT 4x=41 m=n—1
k=m (ATL—|-1An+‘2"'Am—l)_1 m 2> n—2.

Chu [2] obtained a generalization of Gasper-Rahman’s formula (after re-
naming suitably the sequences so as to remove redundant sequences)

(1.7)
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where (a;) and (b;) are arbitrary sequences such that none of the terms in
the denominators vanish. This reduces to the Gasper-Rahman summation
formula on setting ay = ap*, by = ¢* and replacing a and d by d and a/b,
respectively.

In this paper we obtain in §2 a generalization of Chu’s summation for-
mula (1.7) involving four arbitrary sequences, which on specialization yields
an extension of (1.1) to a summation formula with four independent bases
P, q, P and @ and incorporating (1.7) as a special case. An expansion of the

o0

series » , ApBp(wz)™ into a series involving three independent bases is de-

n=
veloped. A transformation of a series involving eight independent sequences
is also developed. The note is concluded by obtaining in §3 some summation
formulas which are different from the known ones by telescoping of series
including g-Paff-Saalschiitz’s summation formula for a terminating balanced

3%2(q].

§2.

We begin this section by proving the summation formula:
If (uk), (vk), (wg) and (2z) are arbitrary sequences such that none of the
terms in the denominators vanish and M, N are non-negative integers then

" (1 — upvgwgzg) (1 — JEEE) (1 — JEZR)(1 — BkZR)

B D T wougmpzo) @ = B (1 = (1 = i)
k—
10 - w1 - o)1 - wd)(1 — ) (2atae)
J:
X

k
I_I [(1 - EJ_ZJ;LZL)(l - 1—fl—%)J-’—z-L)(l — uJUJzJ )1 - u]vJ.w] )]

(1—ug)( - v§)(1 —wh)(1 - 20)

(1~ uovowozo)(1 — ¥220)(1 — taZn)(1 — toin)

{H [ (1 = ud)(1 = o)) (1~ wf)(1 - 23)

LT )(1 — u;uw;z; )(1 — ulvz-zz~)(1 _ uzvvllwl')
2j

j=1 uj vj wj




176 M.V. SUBBARAO AND A. VERMA
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Proof. Let
k (1—-u )(1—'02)(1—— 2)(1~z )
k II |:(1

U, W; 24 U ;W; 24 U; V525 U;U; Wy .

Then by straight forward calculations, we get

k-1
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UV Up Wk Vp Wk

where A7, = 7, —7,_,. Now summing with respect to k from —m to n, and
n

using the fact that >, 7, =7, —7_
k=-m
(2.1) on simplification.

By setting u; = Vapl, v = Ve, wj = Vb PI, zj =d\/ps Q’ in (2.1),

we get a summation formula involving four independent bases:
kyk k pk
n (1 - adp*qt PEQF)(c — L) (1~ %)(1 — o B0 )g2

(22) Z (- ad)(cp-qd)(l -4

and keeping in mind (1.6), we get
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Summation formula (2 2), on setting Q = LP and replacing p?, ¢%, P2, a, b,

d by p, q, P, B8, y, %, respectively, reduces to the summation formula (1.4),
which in turn incorporates (1.3) and (1.2) as special cases.
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It may be pointed out that (2.2) reduces to Chu’s summation formula

(1.7) on setting u; = V@, vj = \/_/\/_ wj = \/cbj, zj = a+/ /c v bj
Setting m = 0 in (2.2), replacing z; by az; and setting o = Touzo wo 700 We get
that

(2.3)
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Next, using (2.3), the following transformation involving eight arbitrary
sequences is obtained:

(2.4)
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Transformation (2.4) can be proved by expanding the first product on the
left hand side by using (2.3) (with n replaced by n — k), interchanging the
order of summations and evaluating the inner sum by using (2.3) once again
and simplifying to get the right hand side of (2.4).

Transformatlon (2. 4) on replacing u;, vi, Wi, Zi, U;, Vi, Wi, Z; by a apt,
vedgd, Vb P, @Y, VAP, VC §, VB Pz Ql respectively, reduces on some
simplification to the following transforma.tlon of g-series involving eight in-
dependent bases:

k pk koyk
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Transformation (2.5) is a generalization of Gasper’s [4, Ex. 3.21] quad-
basic transformation (from which Gasper deduces a transformation of a half-
poised | ¢, into another half-poised ¢, [4, Ex. 3.24]) to which it reduces
on setting Q) = q, P = p, P = D, Q = ¢ and then replacing p?, ¢2, p® and
¢’ by p,q, P and Q, respectively.

X

0
Next, we obtain an expansion of Y A,B,(zw)"/(q;q), terms of g-series
r=0

having three independent bases. In the summation formula (2.2), setting

m = 0, ¢ = ¢72", where n is a non-negative integer and letting d — 1, we
get

Z (1-aplg PIQI)(EEQ — g2i=2my(1 — BBy (1 — & P07 )

< (= a)(I =g T = B~ )

(a;9?);(a>"; ¢%);(b; P?);(% ¢*"; @2); s,
P P 1=2np P = On,0-
L0); (R 209)5(5 B, o) (e g,
Replacing a and b by ap”q" P"Q" and bp"q~ " P"Q™" respectively, where r is
a non-negative integer, setting @ = %q and then replacing p?, ¢%, P2, n by
P, g, P, m, respectively, we get

(2.6)
_ i (1 — ap?*"@*7) (1 — bPIH7q iT)(1 — & prHig?rtmp-r=i)gi
]:0 (1 - aprqr)(]_ —_— bPTq—T)(l — gprq2T+mP—r)
% (ap™q";p);(¢™™; q);(bPTq™T; s P);(%p grtmp-r. ;D_Q)J

(q; q)j(apl+rqr+m;p)j(%pr+1 1+2rP r— 1,%) (bq—m rpr+1,P)j‘
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But, we know that
B,z"

_ {2 (1= $prtmg?rt2mp ) (8 p'q? P~"; B)m(apq”; p)r (P73 P)r
(1 — 2p7¢?" P~")(g; @)m(apg™*™; p)r (bPq~™""; P)r

X {q-—r'm Br+mCr,mxr+m6m,0 }7

where (B;) and (C;,) are arbitrary sequences of complex numbers such that
Cro = 1for r =0,1,2,... Substituting for ém,o from (2.6), interchanging
the order of summation and setting j =n—r and m =n+k —r, we get

Bya" =Y 3" (-)™(1 - ap™q")(apq";p)n-1(1 — bP"q ") (bPg " Pln-

k=0n=r
(1 n+kq2n+2kp n— k):l:'”'k(q_",q)
(apq"+’°,p) (bPqF; P)n(q; 9)n (a5 D)k

n+1 n+r+1
1 &oppnthirp-n) (2P 94 P4
{( pP 4 )(b prl P ), |

a n?  n
% (_pr+lqn+k+r+lp—r—1; Il‘_l_) Bn+kCr,n+k_rqn(r—k—n)+-§—+§ ‘
b P/n—r1

Multiplying both sides by (—LT and summing from r = 0 to co and inter-
changing the order of summation on the right hand side, we get

(zw)”
Z_:A'B' (¢;9)r
& (1-apg™)(1 — bPhg ) ()" tn
- nz—-::O R

n+tk 2n+2k

(1 — b Lpg?-'k_)x Bn+k
“ ( ,q)k(apq"+’°,p)n(qu n=k; P)n
(g~

:Q)r(apq”;P)n—1(bPq™"; P)pn—1

. (;9)r
L 9_ pnqn+k+r a pn+l n+r+1 Iﬂ
b P b Pl PJ,

a pr+1qn+k+r+1 pq (r—k—n)
(3 —p+ P) Crnth—rw"g"" " Ar,

which is a generalization of Gasper’s bibasic expansion formula [4, (3.7.6)] to
which it reduces on setting P = p. It may be noted that on setting P = p the
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terms in {- - - } of the above expression combine to yield (4" @ nik—r—1
as in the bibasic expansion formula of Gasper [4, (3.7.6)].
§3.

All the summation formulae proved so far are for one generalization of (1.1),
a very-well-poised g-series. We next derive a summation formula which gives
the sum of a balanced series.

Let (z;), (y;) and (z;) be arbitrary sequences and a an indeterminate so
that none of the terms in the denominators vanish and m, n are non-negative
integers. Then

k-1
P ¢ a”z"—o)(l - a%%) k

Tzll [(1 - az;)(1 - &)

(1 —20)(1 — yo)
a(l = Z2)(1 - 22)

o [L-a | )
(3.1) X{H [(1—%)(1—’“] H [ (=21 - }}

=1

For proving (3.1) we consider

k
_ (1 —2:)(1 — )
=1l [(1—az,->(1—%)} '

=1 az;

Then by straight forward calculations we find that

-
(12 (- 2)

k=1
)1
i=1
k
'H1[(1 —az;)(1 - 24)]
which on summing over k from —m to n, gives (3.1) after using (1.6).
In view of this it is natural to look for a telescoping proof of the
g-Paff-Salschiitz summation formula [4, (1.7.2)]

T
. = n =
n T (¢ 25 Dn

— 1))

i

To this end define for non-negative integers n and r

(a,b, q‘";q)rq’

Fonn) = e @ gn gy,
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and G(n, ,r,) — (aa b; Q)r+1 (q-—n; Q)r .
(g,¢, 2 ¢ 9)s
Notice that Sy = 1, G(n,n + 1) = G(0,—1) = 0. By straightforward calcu-
lations we can verify that

mn

(1 - gq") (1 - gq") F(n,r) — (1 —cq") (1— c_az%) F(n+1,r)
_ z‘::_bqn[c;(n,r) - G(n,r—1)] =0.

Summing over r from 0 to n + 1 and using G(n,n + 1) =0 = G(0,-1), we
get
_EM (1SS =(1—cqgm (1- &
(1-50) (1=20) S mea) (1= 55) S
which yields

g, = @b n g

(c, E%; @n

By using Sp = 1, we get (3.2).
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